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SECTION A (READING)
1. Read carefully the passage given below and then answer the questions that follow. 5)

The Case of the Disappearing Sparrows
The common house sparrow, once seen everywhere in large numbers in Mumbai, has become
scarce in many areas and this is causing concern not only to bird lovers, but also to scientists.
Formerly, miners used to carry canaries down into the mines with them. If the canaries showed
signs of distress, it indicated that there were poisonous gases in the air and the miners would
immediately leave the mine.

Today, if the sparrows of Mumbai are in distress, it could be a warning to human residents.
The declining bird population could mean that air pollution levels in the metropolis are rising
dangerously or since sparrows are grain eaters, it could indicate that the grains that the people
are consuming contain higher dosages of pesticides than before.

In some countries like Britain, the quality of the environment is graded according to the
number of bird species found in the locality.

(i) A bird named canary was used by miners................. .
(a) to tell the pollution level.
(b) tomake holes in the stones.
(c) toentertain them in the mines.
(d) to detect poisonous gases.
(i) Ifthe sparrows of Mumbai are in distress ................ .
(a) theresidents must take it as a warning.
(b) human residents must leave the mines.
(¢) the Mumbaikars must leave Mumbai.
(d) theresidents must warn the authorities.
(iii) The declining bird population could mean that the air pollution levels ............... .
(a) inthe mines are rising dangerously.
(b) in the metropolis are decreasing dangerously.
(c) in the metropolis are rising dangerously.
(d) inthe metropolis are rising safely.
(iv) The grains that the people are consuming contain ..........cccccceeeeeeenn... .
(a) higher dosages of pesticides than before.
(b) higher number of pests than before.
(¢) higher dosages of medicines than before.
(d) higher dosages of insecticides than before.
(v) The word in the passage which is a synonym for ‘classified’ is ....................... .
(a) graded (b) quality

(c) environment (d) habitat



SECTION B (WRITING & GRAMMAR)

. Write an e-mail to your friend describing the farewell party given to your favourite teacher who
retired from the school recently. ()]

. Read the conversation and then complete the paragraph given below : 3)
Rahul : Can you tell me how to improve English?

Teacher : It is quite easy.

Rahul : Please tell me.

Teacher : You should learn basic rules of grammar and build up your vocabulary.

Rahul asked the teacher (a) ..............c.con..... how to improve English. The teacher assured him
that (D) ccovvviiiiin, quite easy. Rahul requested him to tell him. The teacher said (c)
.......................... basic rules of grammar and build up his vocabulary.

. The following passage has not been edited. There is one error in each line. Write the incorrect
word and the correction against the blank number. 2)

Error Correction

Geography was the combination of two (eg.) was is
Greek words namely ‘Geo’ meaning the earth (a)
and ‘graphy’ means to write or describe. (b)
Thus the literally meaning of Geography is (©)
“to write on the earth including all that (d)

appears upon it”.
SECTION C (LITERATURE AND LONG READING TEXT)
. Read the extract given below carefully and answer the questions that follow. 3)
“The field and the cloud are lovers
And between them I am a messenger of mercy.
I quench the thirst of the one;
I cure the ailment of the other”.

(a) The main figure of speech used by the poet is

(b) ‘Quench’ means

(c) The ‘other’ here refers to

. Answer the following questions. (30 — 40 words) 4)

(a) Why did John get off at Coketown?
(b) Why is the rain divine?

. Answer any one of the following. 3)

(a) Describe “The Pride of the Thames.”
OR
(b) What is the historical significance of Dorchester?
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BASIC SCIENCE
PHYSICS

Answer the Following.

1.
2. Define power. What is the commercial unit of power? (4+%)
3.

4. Illustrate the law of conservation of energy considering the energy changes take place

A

What is sound and how is it produced? (%)

Give four differences between longitudinal and transverse waves? 2

when an object is on a ‘free fall’. 2)
Define the terms and write their SI units. (%+%+%+Y%+Y%+%=3)
a) Amplitude b) Time period ¢) Frequency

d) Wavelength e) Wave Velocity f) Intensity

CHEMISTRY
Answer the following.
1. a) What is a group of 6.022x102 particles known as?
b) What name is given to the number 6.022x102 [Va+2%]
2. How does a proton differ from an electron? [2]

3. Give the important features of nuclear model of an atom proposed by Rutherford.
What was the drawback of this model? [2]

4. a) Calculate the formula unit mass of Na,CO,
[At.mass of Na=23u, C=12u, O=16u)

b) Find the mass of 0.5mole of Na,CO,

¢) How many molecules of Na,CO, are present in its 1 mole? [1+1+1]

BIOLOGY
Define the term health.
Who discovered Small pox Vaccine?
Distinguish between acute and chronic diseases.
Name two prozoans and the diseases caused by them.

W N N = =

What is the basis of immunization? Name two diseases prevented by immunization.
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SOCIAL SCIENCE

General Instructions.

a) There are 11 questions in all.

b) Questions from serial number 1 to 5 are questions of 1 mark each.

¢) Answers of 3 marks questions should not exceed 80 words each.

d) Answer of 6 marks question should not exceed 120 words.

® NS O e W

10.

11.

Who were called amateurs in cricket?

How are the judges of the Supreme Court and the High courts appointed?
What refers to annual growth rate of population?

What kind of funds are created by central government for NREGA?

What is meant by occupational structure?

Describe the contribution of Kerry Packer to cricket.

Which social and economic groups are more vulnerable to poverty?

‘The establishment of the Parsi Gymkhana became a precedent for establishing clubs
on the idea of religious community’. Justify this statement.

Define the following terms.
a) Birth rate

b) Census

¢) Sex ratio

Explain the composition of council of ministers of India.
How are ministers appointed?

Briefly explain the causes of poverty in India. Describe any two current government
strategies of poverty alleviation.

(1)
(1)
(1)
(1)
(1)
(3)
(3

(3)

(3

(3

(5)
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MATHEMATICS
Section A
Questions 1-2 carry 1 mark each. [1x2=2]
1. A chord BC of a circle, with centre O, is equal to its radius. Find ZBAC.
A

Bc

2. A triangle and a rhombus are on the same base and between the same parallels. The area
of the triangle is 15 cm?2. Find the area of the Rhombus.

Section B
Questions 3-5 carry 2 marks each. [2x3=6]
3. Find the coordinates of the points where the line 2x—y = 3 meets the x axis and y axis.
4. AD is a median of AABC. If X is any point on AD, show that ar(ABX) = ar(ACX)
5. ABCD is a cyclic quadrilateral and AB = AC. If ZACB = 70°, find ZBDC.
Section C
Questions 6-8 carry 3 marks each.[3%3=9]
6. Prove that the parallelograms on the same base and between the same parallels have the
same area.

7. XY is a line parallel to side BC of a triangle ABC intersecting AB and AC at X and Y
respectively. If BE| | AC and CF| | AB meet XY at E and F respectively, show that ar(ABE)
= ar(ACF).

y . F

N

2} e

8. The sum of the present age of Ram and twice that of his father is 65. Form a linear
equation in two variables and draw its graph.




Section D
Question 9 & 10 carry 4 marks each. [4x2=8]

9. Draw the graphs of the following linear equations on the same XY plane; 3x+y = 6 and
x—y = 2. Shade the triangle formed with the y axis. Find the area of the shaded region.

10. Prove that the quadrilateral formed (f possible) by the internal angle bisectors of any
quadrilateral is cyclic.
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MALAYATLAM

l. (n19We9g1ad MIaMN)o YOBIVWIW YTMDL HBDAHETNS)HTIN®) M) . (2)
1. Domlcleajooym)aflelsme @an). @ryo?
(p0a16qI88], 2183816605, H.00EHOHN)0)a], 216BBMNY)
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HINDI
I 1. T foresg #ifaTg - (2)
(®) g™ (@) @bm
2. frafafiga auf faese sfag @2 o= fafag - 2)

1. 1.

1.1

(f) S+ +q+A+T+q+
(@) F+A+H+T+g +T + A

frfcTiad ST T TN &k &gl ST faiay - (2)
(@) (@) @

‘T T TR &1 9T [y - (1)
frferRae areriet i us g i - (2)
(®) ST ThE

(@) 99 [a9 § gg TE=aren

(1) @ geHar

(=) & gem

fereti oreg T - 1)
(®) M (@) e

Hfer T - (1)
(®) 7 + amem (@) Y + ot

Hfer foresg it - 2)
(@) gedRIEr (@) wdm

SUge [eR™ gl &l 9o e [y - (1)
Tl gad & A BaT

MY 37U 2005 HISW &I Thg I Hi AT IR gid a1 dred & | 98 b 8000 fraes aa &2 # |
39 M9 %1 U [e(9 a2 STaH H9eh hied 9T GTATY JaR HT i | (4)
Frefiaa gt & IR fafeg -

(%) TgaTed g9 | o= SR el & A o ofer 27 (1%)
(@) ST 3 AEGT BI STUAT ATRH &a Hal A7 ? (2)
(1) wfa eERGIR T 7 AL B Ui WET T AT 27 (1%5)

() TATTAT § AT Bl GaR UGHT @deh &b F § Hi9-a7 [
HIUT? ZTH WG & A (6 9T &1 aRad e €7 (2)



